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Q.No: 1 .
3460666 TAPTIITIN R
A ol B S & qaTd W I & e afka s
B =il B fift f @ drem 919, SIRMR, TrwTEe o onfe ant # faviia &
c P F AP F T Ue BT i S
D I T=il DI Tgur T SURTHS R1g0r 9 3mawaddr §

Correct Ans : C
Subject : Hindi Bhasha 01

QNO: 2 i rer Raveror ot 32 -

2460978

A T U A argar &1 e
B &+ g &1 faera

C i argar &1 e

D i divar o1 e

Correct Ans : A
Subject : Hindi Bhasha 01

QNO: 3 s wTT & ST o1 TarH Al &1

2461049
A fopara e

B et

C w4t & TAYET I
D ST i T ST

Correct Ans : D

Subject : Hindi Bhasha 01

QNo: & femffror arar Ry e adt Bt iRt T Y 39 Ry P § § @ s 32

2464564
A ARG BT U

B vaTared fafy &1 3=

c WAfES qTeH 1

D el oft dee #1 v A B

Correct Ans : A
Subject : Hindi Bhasha 01

oo i R 5T G-I ¥ Fas o
A 0

B 3R

C wie

D W Ao

Correct Ans : A
Subject : Hindi Bhasha 01
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Q.No: 6  “TdIT I T T ufsharait &1 3roi B BT Ufshar e ufthar 81”7 T8

2465052
Fu e F A fraer &2

A gead &1

B ST BT

C TsH Ry o1

D STt arfRirest ®1

Correct Ans : A

Subject : Hindi Bhasha 01

Q.No: 7 . )
2465057 1 T & Rieft qut e 1 Sy R F 9 o v 32

A Sifrepi=r fRrem T ¥ W A o Td & o R
B TOT T4 e & $1S W6y 76 ghan ¢l

C Siftrepir fRrem T & wremy F T8 & ot @
D Siftrepir fRrem o & Aoy d T8 o o §

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 8 . -
3465288 R & Sicia =<, Tera® AR BT Bl IUUNT BT 82

A TS U A
B s aET |
C S SEARY |
D s g F

Correct Ans : B
Subject : Hindi Bhasha 01

QNO: 9 iy 3 @ @-a1 Rigil "o T, g BT T 8-

2465447
A wae &1 Rigia
B grda &1 Ry
[ ST BT FgTT
D HHIS R Rl

Correct Ans : C

Subject : Hindi Bhasha 01

Q.No: 10 :
Sene1g T8 A, RO SreRrer AU 3 e o1 el kA 3 +ff &), e @ -

A ST ATgH
B ST A
C YO ATt
D PGS AT

Correct Ans : A

Subject : Hindi Bhasha 01

24'\'6"5:8;10 T T8 1 SifeH TR a1 8 2
A Hedip

B Fad fazawor

C Faa I

D forzetyor wd w9

Correct Ans : A

Subject : Hindi Bhasha 01

Q.No: 12 ,
esoas BRI ¥ Rwr ¥ forg e st Hewa s @ v 82

A TRER qratarg
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B gt € Al a1 vt B < RgdteRr
c yaoa

D DYT H4qul

Correct Ans : A

Subject : Hindi Bhasha 01

Q.No: 13 -
2466037 o fieR (ffefes fegsiisR) & a=n

A T 714 R Ram A w3 +1 sgua Fxar g1

B [T 3ia: fopar 3R TRgur & SRS $1 gy Far 81
C SRR WA A T R a1 2l

D ST 3T SERE! B GRT BT &

Correct Ans : B
Subject : Hindi Bhasha 01

S vy e Rt o 1 arec ey o g1 g R ST v T @R 9 R A i e Sfe e

A fa-frare

B raE

c Larel

D wiR=y (Afsa)

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:
e R T T T &Y UgeR R U TR & Ged S SaR aTd faded &1 99 $ifvie-

gHed OR-RfR F R Hiersy o) e T FRa1 § A1 g8 IR-RifeRu & o uRexff B, frg y-fafevor & R srrmm 3t @je ot avan 1 GR-fafeRor b o S 6
IRIHST T &R (AR 3R fSERT §RT) & 9T Idg RT Tg01 b Sl 7, T: Sfakes B wrafld o faam wmn 81 39 R Wiad- &1 el &1 Sferaiel’ g7 Sl 8| [
TE 42% &, 3TPT Aded T8 ¢ & It T} IR-TIfHR0 &Y 100% 71 9T, o Hadt 58% € @R SXar & a1 YT 71 Tx gRT YRR &1 W g1 Y-Iq1a! & 9R, gH
AN gedt R Gafau & fJavor § g € Sick UId €1 S9HT IRU 8—g4 B fHR0N R gt R o, 37 Bt orafdy, sreiw, argred H GR-fafBRor o1 R 3R ufiy Bt upfa qur
TS Tg | gl B g afhd 21 ofd: T B AR BT Hior St 5 e Y6 W dead 2 98 ydf BT SR Fg W gedl | G Wed H, S I € Sof Bt A faygaq
JW R HULTHT FH Gqg B TRA ST, Tafh Yal W I8 UETHd 58 Abd B T S0 SR Jalay a1 Sra<iyor fgad a1 I ¢af @t ik gear smem|

et & sifafvad, A s o fre P =M TR Rl F B R TuIT STaar 81 X Y, [l Ffa stersr TR fRui BT ior gHRm Ueh-T el X8 ©, siftg o
Rufa & At seae & Ty uRkafia g gar 81 3id: S & 7eR &, Iak) ielg gaidy o Sl Mg @t o & Siftid U8 Bl € 3R Ul A& ekt BT e, S
TR oifiies Gaiqu T80 e B | SUDT Siep el STA T H Bl €, el Sas) T AT Iad T €l 81 IR RS Sl GATqU Pt W BT YHITAT BT 8 98 € o B
3l St 5 gl & sfal TR g1 H BRO G 81 3 TS &R W T B 3@ T oeT THH et 81 &6 o € 3 sttt 3t SR S oen, A 3 @y wgedt

S g, $ et W sifties gafau urm e ¥ 39 1S W% A 39 | S g § 9o ok S & men § Te sifties gafau om s 7, fhg oo
e St el R UgeT € 98 fagad e $t go F B g 8

(22;1'\‘606:6135850 SR TR 3 SR ot et A TR S T T T
A S

B S

c garg

D ST

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:
e R fRE T T Y UgeR OB U TR & Ged S SaR e fawed &1 99 $ifie-

ST GR-RfHR0r & R ey 31 iRe B B § A T8 IR-FR F o uresl 7, g Y- & R s 3 e w1 wrar 31 IR-fafeRor @1 o S 5
AHST B RN (G-I 3R fFERTd §RT) F 91 Gdg §RT UG a1 ol B, G el § Wiafid & a1 Sia1 81 39 R WRiad & eRell 37 Jfaelisl gl Sal 3| WHrI:
g 42% &, 3TPT AqTE T8 ¢ [ a3 T IR-TIHR0T &1 100% A1 9, & Hawt 58% € @R BiT € A1 YT A1 T gRT TR 81 9l ¢ 4-Iq1a! & aR, 89
T gt R Iy & fIaRor & 9gd & ofR U §1 39T HRU 3—FF B vl W gt R Hvr, &7 @t arafty, sreiw, argred F IR-fafewor 37 eror ok ofyy 3 vfa aur
TS TE | gl 3 g afhd 21 ofd: G B R &1 Hior St 5 fagad] YT W dead § 98 ydf BT SR g W gedl A G Xed B, i S € Sof @t A faygaq
JW R HUIFT FH Ydg B TRA ST, Tafh yal W 98 UETHd 53 AAbd B T H3ht 3R afay a1 sraxnyor fgad a1 I ¢df @t ik gear smem|

el & Sifafkad, drae s o f i R W Rl F B R 1T STaar 31 I 9y, [l T e TR Rl BT dion gHRn Ueh-a e Y §, siftg I
fRufey & wireedt Seera & |y aRafid S 8 81 3d: o & e H, e Talls: JaTa I SRl el @1 g J oifties T8 A § SR U el SHad B orda, I
e & 3 iy e HRaT B1 3THT Sl Jeer afgoht el & g 7, Sef wHadt o1 HET T T BT 31 GO HR S Galau & AT B GuIad HRefl € 98 © i &)
3l St 5 gl & sfal TR G S BRO TG 81 3: TS &R W 3T B 3@ T oeT IHH a1 81 &0 fora €1 S seeffxnt 3t SR sigd oen, A & 3@y sgelt
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STet gafeny, S st wR sifie gafau urar S 31 39 F1E ¥ 6 6 49 R aedt ardreRer H Jars ok SHad & e B ged St gty arn S 7, fhg $a
afau S gt W uged § 95 fayad a1 @1 ga § S g1 3

Q.No: 16  IWfad TEIY & IFNR, Yd W STex! araraxor & Jars 3R sHast & meH & g offies atau urn S 8, fbg $a gafau st gt wR ugaar 8
246663851 g

fargaq ¥ &t gaan & s gar 1
frgaq Y1 & g1 | $9 gar 21
forgaq Y1 & wRIeR @ S B

forgere] ¥ @t ger A 9ga e g 81

Correct Ans : B

o 0O w >

Subject : Hindi Bhasha 01

Passage:

=T R foE 7T TR B ugaR OB T Ul & Ted Ifd SER a1 fadwed 1 99 Sifere-

IgHST R-RfER0 & R ey F wRe F1f wvar § 1 95 GR-RfRw F R uRexf B, g y-fafdRw % R s 3 e F FRan 31 IR0 1 ofwr 5 6
TRIHST T &R (AR SR fSRERT §RT) & a1 Gag gRT T foba S 7, G: Sfafes H wRrafida & faam Simn 81 39 O WRIade &1 Rt &1 Sfealel’ FgT Sl 8| [
T 42% B, 3BT Haad T8 ¢ b afd [ WR-RAfH0 B 100% TFT ST, @ Fad 58% & @< grar & a1 Yy a1 T gRT TR 8 oIl 81 Y-I9-ah! & SR, 86
T gedft R gafau & faawor & 9gd € 3R U €1 3BT BRU 8—TF B bRl W gedft R vy, o Y 3rafiy, sreriw, argrse F IR-fafeRor o7 eror 3R yfyy 3 vl aur
T G| gt Y g afhd 31 or: G @Y RN &1 pivn S o fagad a1 W dead § 98 yal 3 3R 9g W ged! S| gW vkl #, e Ia € S 3t 6 fayaq
J@ R SHULIFT FH g B TRA ST, Fafh yal W I8 UETHd 53 AFbd B T H3ft 3R Gafay a1 sraxiwor fayad Y1 & ¢df &t 3k gear smem|

Jferieit % sifaRed, T seama ot freht fAfa =M R R0 & S R yuig Stadr 81 R o, fhed A sreiwr wR ROl @1 BIoT gART Teh-T EY I8 8, g T @t
fRufey & et gaera & |y uRafld S 38 81 3d: o & HeH H, e Meils; Jaiau 1 el el @1 e J oifiies T80 a1 § SR YW e SHEd B arda, I
TR it afau T80 e ¥ 5D Sl Ieet Sfeh Tiiarg A gl €, el Sad) o1 AT I T €T 31 IR HRS Sl Qafqu P W1 Y YHITAd Rl 8 98 ¢ oA B
3fafy St o5 gt & 3fef TR GG S PRU aeR! o1 3fd: TP &l R &7 BT 3@l 1 der 99 a1 81 59 R 81 S sfaifi 3 3R Sgal Sed, fost it @Yy wedt
Sl sy, S et W iR Jafau umn ST 81 39 PIS Wb e b Y TR STed arareRur H Jars SR SHad & AR # wed i gafau umn §ira €, fhg o
Tl St et © ugedl & 98 fagad Y@ $t o F B gl 8

Q.No: 17

246663852 © gl TR TR, S T &

A F2 et W it aiau rar S R

B TR-fafeor &1 oiz1 =it 5 aTgwea & &RUT & TG Hag GRT Ul 6T STl §, UH: Siaiver  wrafda w) faar st g1
C Td B fHo &1 Hor ot 7 Rigae Y1 W d9ad 8 98 yat 3 SR gg W Fgar g s

D qrgHed AR-fafe & R Meew 31 ave o1 w1 @ T g8 AR-fafvor & fore urexi 21

Correct Ans : C

Subject : Hindi Bhasha 01

Passage:
R 2 fou TU TR #Y ugaR B Y Ul F 9ed Ifd ST aTd faded T 99 difere-

qgHesd IR-fafRur & o Wersw &) e 1 Fxar & T g8 IR-faferwr & fow uresl B, frg y-fifemur & fow srormma 3t e &rf axar 81 IR-fafdror 7 ofwr S 5
ST H &R (GO AR FRIRTT GRT) F 1G Gqg GRT TSV 6T SI1ell ©, T: Sfaiked § Wiafid R &1 ST 81 $9 I WG Bl eRelt &7 SfraiS)” gl il 81 T
g 42% ©, ST Haod T8 ¢ & afe R IR-FIRFR0 &Y 100% HF1 WIT, < aet 58% & = Sier & a1 YT a1 Yox gRT TR &1 oIl 81 Y-I9eh] P S9R, &H
T gt R G & faaRor & 95 € 3R U €1 T9PT BRU §—TF B bRl W gedft R By, o7 Y arafdy, srerw, argrea H IR-fafmRor o7 eror 3R yfyy 3 vl aur
T o | gt Y g afhd 31 ord: G @Y Rl @1 ior S o fagad YT R dead § 98 yal 38R 9g W gedl Sem| g wedl #, e Ia € S 3t 7 fagaq
W W 3THd HH T8 B TRY M, Ta6ib Ydl W 95 AHUIHd 93 &% B T4 Hoit iR Fafqu a1 sraxivor fagad a1 & ydi @t iR gear S|

et % srfaRed, T seama o freh fAfa =M R R0 & S R yuTg Stear 31 R o, fhed A sreiwr R ROl 1 SIor gART Te-I e g 8, oiftg T @t
fRufa & et Seeme % A1 uRafia g1 ed 31 of: S F AN H, S Tiers: qatay i iRl iers 3 qo # S Te0 HRa © SR TS Sl ST S s,
g & 3 Qaiay TEU AT §1 BT Sl Jeel STAh e & gie ¥, el et o1 HE1 Tad T BT 81 ORI $R S Galau B 6B Bl GUITAd Bl § 98 ¢ i B
3afd S 5 gt & Sfel TR FHTd F HROT JEA 31 3 TSP A& W T 3 3raf 7 ger T T ¥ 70 S € S sqeffi 3 SR Fga S, fiF 3 srafy wgedt
Sl safeny, S et W iR Jafau umn ST 81 39 BIS b e b Y TR STed araieRur  Jars SR SHad & 7R # ged e gafau urn s €, fhg oa
iy s gl R UgEd § de fayaq T @ ga # &9 g 8

S g S T & SR , SR e gt B afa e @ qee # oiftie e e €
A sk Gek

B R F wdR &

c EECTk R IR k)

D wRad F A A
Correct Ans : A

Subject : Hindi Bhasha 01
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Passage:
R 2 fau TU TR #Y ugaR B Y Ul & 9ed Ifd ST aTd faded B 99 difere-

qgHed IR-fafRur & o Wersw &) e 1 Fxar & T g8 IR-faferwr & fow uresl B, fig Y-fifemur & fow srormma 3t e &rf o 81 IR-fafdror 7 ofwr S 5
ST H &R (G AR FRIRTT GRT) F G Gqg GRT TSV 6T SI1ell ©, T: Sfaiked § Wiafid R 01 ST 1§90 I WG 1 eRelt o7 SferaiS)” gl Wil 81 T
g 42% ©, ST Haed T8 ¢ & afe R IR-FIRPRU &Y 100% HF1 W, o aet 58% & @ Sier & a1 YT a1 Yix gRT TR &1 Sl 81 Y-Iqeh] P S9R, &H
T gt R I & faaRor & 95 € 3R U €1 39HT BRU §—TF B Rl W gt R By, o7 Y arafy, sreriw, argrea H IR-fafmRor o7 eror 3R yfyy 3 vl aur
T o | gt Y g afhd 71 ord: G @Y Rl &1 ior S o fagad YT W dead § 98 yal Bt 9k 9ga W gedl S| g wedl #, e Ia € S 3t 7 fayaq
W@ W 3THd HH T8 B TRH S, T6iH Ydl W 95 AHUIHd 99 &% B T4 Hi iR Fafqu ar sra=ivor fagad a1 & ydi @t iR gear S|

et % srfaRed, Tl seama o freht fAfa wM R R0 & S R yuTg Stear 31 R 9, fhed fAfda sreiwr R RO BT BIo7 SRR Teh-T EY g 8, ifug T @t
Ruf & et Seeme % A1 uRafia g1 ed 31 of: S F AN H, S TS qatay @ iRl Tiers 3 qo # S T80 HRal © SR TS Sl S S s, S
TR e afdu T80 e 81 SUPT Sl Ieel e e H gl €, el SaR) Bl AT T 7 €T 81 G SRS Sl GaTqy P HE B THITAT BT @ G8 € oA B
3afy S 5 gt & sfel TR G F HROT JEA 31 3 TP A& W T 3 3raf 7 der T T ¥ 70 T € S sreffRi 3 oiR Fgd Sme, fiF 3 srafy sged
STt gy, S st W sifie gafau urr o §1 39 F1E ¥ 6 6 49 W a8l ardreRer H A $iR SHad & TeH B 9e St gty arn S 7, fhg oa
iy s gl R UgEd § Je fayaq X 1 ge # S 8 8

Q.No: 19 ¢ N o
246663854 T 1 8 o e T AT U ety # e fopa T 82

A afsea
B HHATT
c fuETFda
D SRAT

Correct Ans : B

Subject : Hindi Bhasha 01

Passage:

R R T T T #Y UgeR UR U U & 9eY Sfd SaR aTet fawed a1 9 Sifere-

IgHSd IR-fafeRur & fore Hiersw &) Re w1l Fval @ 1 g5 IR-ffour & o uRexlf B, fobg vy-fafevor & forg srormmr 3 @R rf @an 21 WR-fafevor &1 siw S b
JRHST T &R (AR R fSGRT §RT) & 1 Gag gRT TgU1 ol Sl 7, T: Siafes H wRiafid o feam ol §1 39 ¥ Wiad- Bl ekl 31 \fealsl’ 8T Sl 8| [
g 42% B, 39! Aded T8 ¢ P afe R IR-FIfFR0 Y 100% #F1 WI, O Haet 58% & =T SNer & a1 Yy a1 Y gRT TR &) &Il 81 Y-I9eh! & Si9R, &H
T gedt WR gAY F e F 9gd & SR U &1 ST BRI 3—FF B R0 W gt W Hw, A B sqafty, i, argred F GR-AfHR0r B eR0n ok 4 3 v qur
T o | gt &) g afhd 31 ord: G @) R &1 ior S o fagad YT IR dead § 98 ydl Bt 9k 9g W ged S| g weal #, e Ia g e 3w fayaq
W@ W 3UTHd HH T8 Bl TRY M, TGP Ydl W 95 UG 93 &6 B T4 Hai iR Fafau ar sraxivor fayad a1 & yai #F iR gear smem|

e & sifafvad, Ao seara ff fedt R A R ol & S R TuTg STaar 31 R 9y, 5 i sierer o Rl 1 sior ghRn ve-a e e §, siftg 3 3t
fRufy & Tt seara & ary aRafdia ST el 1 ofd: S & AL &, St Tiiag gafay ot afoft i 3t g # oifiid T80 drar & SR U SHefiRr Sadt @t e, I
TR H 31 gaiau U8 HRa1 3| SUHT Sl el SRoRt Marg | giaT 8, et wad! BT HEHT Ta T i1 81 GERT HRE ol YAy Bt T HY YU HRal § 98 § o 3
Sfafy S 5 gedt & ofef TR FHIT S HRU FEeh 31 3d: UAP & W G 1 3@l 1 ver qu et §1 50 R € S sreii 7 3R g S, e Ft srafdy wedht
Set gufeny, S st wR i gafau urar S 31 39 F1E ¥ 6 5 49 R aedt ardreRer H Jars ok SHad & e B 9e St gty arn S 7, fhg $a
afau S gt wR uged § 95 fayad a1 @1 ga § S g1 3

Q.No: 20 e g ¥ =3
246663855 1 B ¥ SR H HH-I1 AN 82

A o W

B 8 I

C SAgTYTE HHN
D gdife oA

Correct Ans : B

Subject : Hindi Bhasha 01

Passage:
e = U U TR Bl ugaR R N URAl & 9ad IRd SR ard [adwed &1 9uH Bifon-

IgHST IR-fafexr & fore Hiersw &1 ke w1l F=al ¢ A1 Tg AR-fAfeRu & forg uReRff 7, fobg 3y-fafevor & forg srormrr 3 @R o @an 31 WR-fafeevor &1 siw S b
TRHST T &R (AR 3R TR §RT) & e Gdg gRT Tg01 o Sl 7, TF: Siaer H Wiafid o feam rl §1 39 ¥ Wiad- Bl ekl 31 eaiel’ F8T Sl 8| qHm=ia:
T 42% B, 3BT Jaad I8 ¢ & afd [ IR-AfHR0 #1 100% T ST, & Fad 58% & Sra=ifyd gar 3 a1 Yy 1 T gR1 TR 81 91T 81 Y-39-S & IR, 79
T gt R AT & fIaRor & 95 € SR U §1 T9HT BRU §—JF B R0l W gt R Hvr, 7 Y arafdy, sreiw, argrea § IR-fafmRor 37 eror ok yfyy 3 vfa aur
T o | gt &) g afhd 31 or: G @) R o1 ior S o fagad YT R |99 § 98 yal B 9k Sg W g S| g Wedl #, 3% Ia g Sa Bt A fayaq
IW R HULTHT FH Ydg B TRA ST, Fafh Yal W I8 UETHd 58 Aba B TH SN 3R Jalay a1 Sa<iyor fyad a1 ¥ ¢af @t ik gear sl

et & srfaRed, T seama o freh ffda M W R0 & Sl ® yurg sraar 31 R 9, el fAfda srei=r R R0 &1 Sior gaR uewh-a1 e 51 8, oifug g @t
Rufy & Tl seama & w1y ulkafdd g gdr 81 3d: 9 & AeH H, Sl Mdle, Gaidy B! cfaof Miee &) qa-n o il T80 HRaT § 3R Udd (& Sadt B 3idef, S
A & 3 iy e BRaT B1 3UHT Sl Jeer afeoht e & g ¥, Sief wHadt o1 wen Tl 7 BT 31 G $R S Yalau & WE B guiiad SRl € 98 € A @
3af St 5 gt & sial TR FHI F BRO G 81 3 TP A& W T B 31l T oer T et 71 & S € ST seeffit 3 SR Sgd Se, T 3 rafy wgedt
STt safi, S sreiel wR ifie gafau urar o @1 59 B T A 6 4 W aedt JraraRer § o[arg ok wHad & HER ¥ Y sifdies iy uran S 8, g oot
i St et R U € 98 fyaq e $ go § BH g 8
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Q.No: 21 .
246663856 e 7 9 F, g2, gere!, W), A, 5ERY, 59, AR, g6 ¢ 59 PR &l [yarEd W 2

A IH Y
B Ty g
C 3 T
D e qo

Correct Ans : A

Subject : Hindi Bhasha 01

Passage:

e A U TTU T Bl gaR R TN URAl & 9ad IR SR ard [admed &1 9u difon-

IgHST IR-fafexer & fore Hiersw &1 ke w1l F=al ¢ A1 T8 AR-fAfeRu & forg uReRff &, fobg 3y-fafevor & forg srormmr 3 @R o @an 31 WR-fafdeur &1 siw S b
TRHST T &R (AR R SWRT GRT) & e Gag gRT Tg01 o Sl 7, T: Siaer H Wiafkid o fam 1l §1 39 ¥ Wiad- Bl ekl 31 \Jfeaiel’ $§T Sl 8| qHm=a:
g 42% B, 3BT Iaad T8 ¢ & afd ¥ IR-AfHR0 &1 100% T ST, & Fad 58% & Sa=ifyd gar 3 a1 Yy a1 T gRT TR 81 S1dr 81 Y-IMS! & IR, 79
T gt R AT & fIaRor & 95 € SR U §1 T9HT BRU §—JF B R0l W gt R Bvr, 7 Y arafdy, sreriw, argrea § IR-fafmRor 37 eror ok yfy 3 vfa aur
T O | gt @) g afhd 31 o G @) Rl o1 ior S o fayad YT R |99 § 98 Yal B 9k Sg W g S| g Wedl §, 3% Ia g e Bt A fayaq
IW R HULTHT FH Ydg B TRA ST, Fah Yal W I8 UETHd 58 Abd B TH S 3R Jalay a1 Sa<iyor fiyad a1 ¥ ¢af @t ik gear s

et & srfaRed, T seama o freht fifda M W R0l & Sl R yurg Sraar 31 R 9, el fAfda sreier R R0 &1 Sior gaRT ueh-a e 5 8, offtg g @t
Rufe & Tl seana & w1y ulkafdd g gdr 81 3: 9 & AEH H, Sl Mdle, Gaidy B! il Mele &) qa-n o il T80 HRar § 3R Udd (& Sadt B e, S
A & 3 iy e BRaT B1 3UHT Sl Jeel afeoht e & g ¥, Sief wradt o1 wer Tl 7 BT 31 G $R S Yalau & WE B guiiad Sl € 98 € A @
3af St 5 gt & sfal TR FHI F BROT G 51 3 TP &R W AT B 31l T oer T et 71 & S € ST siedfit 3 SR Sga Se, T 3 rafy wgelt
Set gufery, S sreiit w3 gafau uran S ¥1 39 F1 ¥ ) 5 4a W aedt ardrerer H Jars ofR SHad & meA B ge S gty arn S 7, fhg $a
i St et R UgeaT § 98 fyad e $ go § BH e 8

Q.No: 22 ‘ g e
246663857 1§ ¥ BH-91 Tse By’ &1 yuigard wsg 82

A oft
B g
C e

D wifer

Correct Ans : B

Subject : Hindi Bhasha 01

Passage:

= T F UgHR I T IR & T I IR A fabed 1 T -
TR $aR R TR AR oI

T IR 3P GA Ude, TG Bl TaHHII

T Sl TUHH S Giag O S|

oTet 39, IRy o1 Iy Y <9 R

oy woa-R, ¥R, 59, 9, i gieal
R, @R, 3% fie Oifq, 9u R o1 gfeg
Fufy wiE gk g9 R, fag s W S
e = wamafey, A9g S-S RE |
g HE-HIHA I, g E 3 )

oY U -, W R, g a

I A THd, TS Har gl

S IGET 3T Ge, I T WAF |

Iy 1 Werd fhvd, weaf a1 faw

PR 39 3 FoH, 9 77 @) gl

Q.No: 23 . § .
246670050 V1 8 SudH T & v 1 A FrEe-

A IreRm Prardt
B ECERAH
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C HRraTs
D weTedt gaf

Correct Ans : B

Subject : Hindi Bhasha 01

Passage:

A= T F UgHR I T IR & T I IR A fadbed 1 T -
TR $R R dTR AR oI

TR 3P GA Ude, Tg Sl TaHHII

T Sl TUHH S Giag O S|

o1et 39, IRy o1 Ty Y <9 R

oy waa-R, ¥R, 59, 9, i gieal
R, IR, 3% fie oifq, 9u R o1 gfea
Fufy wiE gk g9 R, fag s W S
e = wEmafey, A9g S-S R
g HE-HIHA I, g E9 )

o UB! P-Aife, W R, R T

I As THd, TS Har g

S IGET 3T Ge, I S WAF |

Iy 1 Werd fhvd, weaf a1 faw

PR 39 3 T4, 9 79 @) g

Q.No: 24 : . o
246670051 T & & o uq o1 v Iuder dfekrt & e e rar g2

A PH-HIATT
B FHA-R
c - afet
D e

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:

FEr: Proair Y UgR IR Y U $ T IRd SaR a1d by 1 Ta Bifvie-
TR $R R dTeR AR oI

MR 35 A Uhe, AE Hal GauH |l

T Sl TUHH S Giag a S|

1 3, Wi a1 el st < faf

oy woa-Rm, wiR, 89, GoH, o gfea
R, IR, o foa M, 7 Rrw offy ez
Bufy i gR g9 7, g s 9 R
g v veafad, Tg S-SR R
T HE-HIMA A, g Fu 3 9

g uS P-Aife R, W R, FFRR g™l

T A THd, T Har gl

S IgET 3T e, IS T WAF |

it T Werd e, Fga a9 o)

PR 395 3y T, 79 79l gl

Q.No: 25 ¢ ”
246670052 T &y 1 of T 82
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A qaYa

B qYar
c gha
D Ty

Correct Ans : A

Subject : Hindi Bhasha 01

Passage:

RN TR BT UgaR T Y URAl & TN Id SR a1l faded &1 99 Sifere-
TSR $aR FER TR AR oI |

IR 5 A ube, T pall FHH I

T Bl TIHH BT Qide O S|

91 39, R 1 i sifdd <@ Rl

oy woa-R, ¥R, 39, o, o gfeal
ER, IR, o e @ifd, 9v R g gfea
Bufy i gR &9 7, fg g w2 SR
g U geafad, Tg $HE-HIAE R
T BE-HIH I, T T 3 9

oy Tt A, { R, g T

T afes Tebd, I Har gorH|

S I 3 e, IS T WAF |

g G Wad fhRd, wga s e

PR 39 WG T4, a9 79 W gl

Q.No: 26 .
346670053 % TE0 T ST At faR o @ e 62

A W
B quf
C o
D afq

Correct Ans : D

Subject : Hindi Bhasha 01

Passage:

=T T Y TgR TE T URA F TN IFd SR aTd fadbed BT 70 BIfvT-
TSR R FER TR AR oI

@R TF G Ude, TG Hal THH|I

T S YA b Giag O S|

q1d 39, Ry a1 g ifda v’

oy woa-R, yIR, 39, o, i gfeal
BR, IR, 3% g Afa, 79 Ry ofg gfean
Bufy i gR 89 7, fag g w2 dfera
e wu varafa, A8 S-S R
T HE-HIA I, g E9 3 )

g U9 JE-Aie, W R, ZRER wE

I afes Tbd, e Har ol

S IS 3T e, IS T WAF |

A T Werd bR, wew s e

FR 399 e T, 79 T 1 g
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QNO: 27 ofy forey 7 ot et a7

246670054
A IR
B R ™
C TMid
D RS

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

1 T Y UghR IR T U $ T IR S&R a1d fadbed 1 7ae BIfve-
TR $R R dTeR AR oI

R 5 A Udbe, T Hal FHH I

TE ol THUH Hl WIdg O I3 |

I 3, W a1 el st < fafi

fafy woa-Rm, wiR, 39, GoH, & gt
R, IR, o fda @ifa, 9u R g gfe
Bufy i gR g9 7, g s 9 R
g v veafad, Tg $E-HIRE i
g HE-SHIE I, I = B I

g Ut G-Aife, W R, GERR aNi
TR afes G, 9 Her gl

S IS 3T e, IS T WAF |

it T Werd e, mga s@1 o)

PR 35 g T4, 79 79 W gal

Q.No: 28 . e .
246670055 ST UEREN H R e &1 R A § @ o 32

A quon
B g
C FIR
D STH

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:

RN TR BT UgaR T Y URAl & TaY IFd SR aTdl fadwed &1 99 Sifere-
TSR R FER TR AR oI |

R 5 G Udbe, T dall FHH I

g Bl IHH b Gide O S|

1 3, W a1 iy st <

oy woa-R, ¥R, 39, o, o gfeal
R, IR, o e @ifa, 9v R g gfea
Bufy i gR g9 7, g s w2 SR
g U geafad, Tg $HE-HIAE R
T BH-SHI I, T T 3 9

g B! G-Aife, W R, GERR TN

T afes Tebd, TS Har gorH|

S IS 3T e, IS T WAF |

g T Tad fhRd, Aga s Fam|

PR 39 g T4, 79 79 W gal


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Q.No: 29 e 5 Q R @1 o w22

2466700S6
A el
B aoryfy
c drar
D R

Correct Ans : C

Subject : Hindi Bhasha 01

QNo: 30 o 4 § -w1 AR ®U J SRRy ST 1wl T 87

2468794

A Fad HamHS gikadadr

B Faa FgT=ierar

C Faa eI

D SATAfIRaRT , We-TRiterdT Td T giRaaddn

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 31 Find the smallest fraction of the following fractions?

2461597
fofafa fet # 9 99 31 fig Jra i
20
81
A
20
21
3
2
B
3
8
9
43
(o}
9
43
1
4
D
1
4

Correct Ans : C

Subject : Mathematics

(224’\2283524 What should come in place of the question mark (?) in the following question?
Vb*+52—-174+6="

Freferfias wor § e fomg () % TIH 9= ST =ie?
53 +52—-174+-6=7

v

15

15
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17

13
C

13

11
D

11

Correct Ans : D

Subject : Mathematics

Q.No: 33 10 years ago Hema was twice older than Geeta. If ten years hence Hema will be 40 years old, then what is the present age of Geeta?
2467242

10 T1d Tgd &A1 Mar & Qg 9t off | 3 <9 9y a1g 87 40 o F SR, o Hew B adAE g T R?

25 years
A

25 9§

20 years
B

20 9§

15 years
C

15 af

35 years
D

35 ad

Correct Ans : B

Subject : Mathematics

Q.No: 34 xis 15 years old and y is 20 years old. After how many years the ratio of their ages will be 5 : 6?
2467405

X, 15 98 &1 3 3R y, 20 I8 &1 31 fba I8 Ud 9} I BT UM 5 : 6 THT?

5
A

5

10
B

10

15
C

15

8
D

8

Correct Ans : B

Subject : Mathematics

Q.No: 35 - P
3467549 Value of 2m is? (Approx)

20 BTHMA 87 (@THT)

A 3.142
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3.142

31.42
B

31.42

6.284
C

6.284

62.84
D

62.84

Correct Ans : C

Subject : Mathematics

Q.No: 36 Two cylinders of equal volume have radius in the ratio 2:3. The ratio of their heights is?
2467601

FHM 3T P <) A1 B Boa 2:3 B U H 81 STB ST BT U €2

2:3
A

2:3

3:2
B

3:2

9:4
C

9:4

4:9
D

4:9

Correct Ans : C

Subject : Mathematics

Q.No: 37 The area of two circles are in ratio 625:49. Find the ratio of their radii.
2467607

3 I T A 625:49 & U W &1 SPT PSS BT 3T J1d BT |

625:49
A
625:49
49:625
B
49:625
25:7
C
25:7
7:25
D
7:25

Correct Ans : C

Subject : Mathematics

Q.No: 38 If the length of a chord of a circle at a distance of 12 cm from the centre is 10 cm, then the diameter of the circle is:
2467670
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afe F% ¥ 12 I A g8 W w9 I far B e 10 I R, A I BT AN R

13 cm
A

13

15cm
B

15 9

26 cm
C

26 &

30 cm
D

30 ¥

Correct Ans : C

Subject : Mathematics

Q.No: 39 The solution of the system of simultaneous linear equations 4x - 3y = 7and 5x + 7y + 2 = 0 is:
2467778

gyd s TR 4x - 3y = 7 AR 5x + 7y + 2 = 0 & b &1 59 &:

x=1y=1
A

x=1y=1

x=-1,y=1
B

x=-1,y=1

x=-1,y=-1
@

x=-1,y=-1

x=1y=-1
D

x=1y=-1

Correct Ans : D

Subject : Mathematics

Q.No: 40  In the given figure ABCD is a square. Find measure of 2CAD.
2468089
D C
L

& 1S el # ABCD U @'l §1 £CAD STHIY I1d BT
D C

L]

90e

90e

B 6o
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60°

450
(o}

450

300
D

300

Correct Ans : C

Subject : Mathematics

Q.No: 41 The length of a rectangular field is 7 m less than three times of its breadth. Find the breadth of the rectangle if perimeter is 50 m.
2468413

T TAIHR N B daTg ITB! T8 & 9F T4 T 7 Hl BH 31 310 B DS 71d P afe gl 50 0 81

15m
A

15 i

4 m
B

4t

12 m
C

12 1

8m
D

8w

Correct Ans : D

Subject : Mathematics

Q.No: 42 Which of the following should be introduced in the secondary stage of Mathematics curriculum?
2468637

T UTeash Y & WreAte aRu1 § Fafared J 9 fed i fasar s anfeu?

Mathematical games

A
i @
Algebra
B
drerira
Trigonometry
C
[EEALITIT]
Regular shapes: : triangles, circles, quadrilaterals
D

Frafia srpfaal: : fiys, 99, 9gis
Correct Ans : C

Subject : Mathematics

Q.No: 43 Calculate the ratio of 224 mm to 22.4 m.
2469681

224 finft & 22.4 Hiex &1 SUd I HITCI
A 1:200
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1:200

1:50
B

1:50

15:50
C

15:50

1:100
D

1:100

Correct Ans : D

Subject : Mathematics

Q.No: 44 Find the value of following expression when a =6 and b = —4.
2469885 (a?+ab)+3-ab

rafafeg oo A Aa fifSv sg a =6 i b = 4 §N
2(al+ab)+3-ab

51
A

51

-45
B

-45

45
C

a5

-51
D

-51

Correct Ans : A

Subject : Mathematics

Q.No: 45 Find the duplicate ratio of radius and diameter of circle.
2473364

T4 B BouT 3R o & SIUId BT AT §Id B

1:2
A

1:2

2:1
B

2:1

1:4
C

1:4

4:1
D

4:1

Correct Ans : C

Subject : Mathematics
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Q.No: 46  Which number subtracted from each number 10,18,14,26 such that obtain in the same order will be proportional.
2473387

Temait 10,18,14,26 ¥ YA T H A HH-T WA °ery b1 34 HH F e TeH JHHT 8 S|

5
A

5

a4
B

a4

3
C

3

2
D

2

Correct Ans : D

Subject : Mathematics

Q.No: 47 Which one of the following is not a teaching technique?

2475390 FERi@d # A Hi-T Rieror qebeiie et 82

A Seminar

B Symposium
fFey-dus

c Film and Chart
fpem ok aé

D Interview
TP IR

Correct Ans : C

Subject : Mathematics

Q.No: 48 A good objective should be

2475577
Th 3BT I5Y G AT
A Specific
B Testable
wdigmr g
c Small
D Attractive

Correct Ans : A

Subject : Mathematics

Q.No: 49  Given interchanges: signs + and +, and numbers 2 and 4; then the value of 2 + 4 x 3 + 2 is
2481001

faU 7MY SeA (3T B gea): g + oK +, IR GBM2 3R 4; W2+ 4 x 3+ 2HTHAAT

10
A

10

9
B

9

8
C

8
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7
Correct Ans : A

Subject : Mathematics

Q.No: 50 Intelligence testing is useful for knowing

2481365
g e Sudh @ o &
individual difference
A f o
mental retardation
° e s
educational backwardness
¢ e fRrogTom
D all of the given option
e ggwl

Correct Ans : D

Subject : Mathematics

Q.No: 51 Which of the following has an essential part in the socialization of a child?

2ABA0 2 ol 4 oot 49 R T o e 22
Play
A @
Good clothes
B Glﬁ'aﬂl%
Beauty of a child
c TS T= o1 Yawel
D Good book of a child
TF I 31 DT e

Correct Ans : A

Subject : Mathematics

Q.No: 52 In Class VII, a teacher taught the ‘properties of all types of quadrilaterals’. In the class test that followed after the unit, the teacher asked the
2481433 problem on construction of quadrilateral. No one in the class was able to perform in the test, the reason may be

HeT VII H, T e 3 @ ghR & ISt & IO gyl 3BT & S18 5% e uden H e ¥ Iqe & i #t ween ggt wen § B off wier § yeg
& B U, THDT HRUT &1 el &

There is a gap between instructions given in class and the assessment conducted

B wam A faw e P ok fre e yeuie & di9 @ SR R
All students of the class are dull
® s s TR e g §
c The students were not serious about the class-test and had not prepared well

BT HET-TIET Y AP TR T8 & 3R I ort Fardt 761 =t ot

The teacher is not able to create the interest of the students in this unit

P e 3 3T & oH B o da R A Waw T 2
Correct Ans : A

Subject : Mathematics

Q.No: 53 Which of the following does not come under the category of social motives?
2481853
frffaa & 3 o @ g Sl Bt Aoh & 7 o 82

Prestige and Status

A g sie R
Social approval
° R S
Personal goal
C

HfFTa deg
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D Money hoarding
P} SRR

Correct Ans : C

Subject : Mathematics

Q.No: 54 Which of the following strategy will help a student to learn the tables?
2481914
frafafad & 3 S-S e B & i (2aw) e § mee wufl?

Drill
. &=
Brain storming
B
faraR-wy=
Assignment
¢ SRTETHE
D Homework

Correct Ans : A

Subject : Mathematics

Q.No: 55 Some students perform average in Math because

2481921 Wﬁ%ﬂiﬁﬂﬁlﬁﬁ mmm%’ .
they are interested in other subject
A & o o 3 o T 8
they lack the basic understandings of topic
g i S S 7S T A i
they are better in performing arts
c & e o # g &

they don't have a mathematical aptitude

b I T T SiftanTar T 8
Correct Ans : B

Subject : Mathematics

Q.No: 56 To go beyond the given in formation is

2481932 .
o F faw Ty F o e ¥
Unistructural level

A .
THIEAATHD TR
Multistructural level

B
FEIRAATHS &R
Rational level

C
THATT TR

D Extended abstract level

R WX

Correct Ans : D

Subject : Mathematics

Q.No: 57 A teacher has to be

2482467
& Riere P B MY
A a strict disciplinarian
TH J&d AR D
well versed in the subject
B
v & orst o @ afvw
a continuous learner in the subject
C
fawg & ues waa Rremeff
D sympathetic towards slow learners
it 7y & Frem arel ¥ wfe Fergyf

Correct Ans : D

Subject : Mathematics
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Q.No: 58 When faced with word problems, Rajan usually asks “Should I add or subtract?” “Should I multiply or divide?”. Such questions suggest
2482652
et GRS BT GO FA W, A0 AHTAR | UGS &, "I T ST I1 GeT AMeT?" a1 Gt O a1 HRT H31 a1fee?” | W Uy gl &

Rajan lacks understanding of number operations

A IS B TSI AT B THH BT UG &
Rajan cannot add and multiply

® IS wilg SR 0T T R T
Rajan seeks opportunities to disturb the class

c o 3 e ) e A % i A

D Rajan has problem; in comprehending language
GEEEIRTL

Correct Ans : A

Subject : Mathematics

Q.No: 59 Teaching at school Level implies

2482731
A TR W AT BT dE &
Imparting information given in text books
A U13d Tl | &Y 1S ISR e a1
Asking questions and conducting examinations
® Y TS 3R Ule S S
c Preparing students to pass examination with good marks

D 3T |/ Tflen el B F R Rl 9t dart =

Drawing out talent of children for their all around development

D Tt & Fativr e $ RIg S WY1 S aTeR A
Correct Ans : D

Subject : Mathematics

Q.No: 60 Behaviours that can be learned with a moderate amount of difficulty are said to be:
2482826
A T 8 B3 & Gy PR S Gob 91 AIER Hed ¢

Prepared behavior

A JId qAgR
B Unconditioned behavior
AgR
c Unprepared behavior
UG AR
D Control prepared

Correct Ans : C

Subject : Mathematics

Q.No: 61 Non-metallic minerals which are inorganic in origin are

2469337
SHYTg TS W I T F SHpTEHD 8-
Mica, limestone and graphite
A
Y, AT 3R I15e
Coal and crude oil
B
Frgar R F= Ad
Iron, aluminum, zinc, copper
C
e, TegEifaH, s, aier
Gasoline and diesel
D

e ok Sivra

Correct Ans : A
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Subject : Environmental Study

Q.No: 62 In a pond ecosystem, the pyramid of energy is always _______as the energy flow reduces as it moves from lower to a higher trophic level.
2469396
qTeTe 3 TR #, Soll BT RIS TR BT & FfF T T =9 U TR B IR §¢7 W SHoll U8 FH 8 ol 2
Inverted
A
IR
Upright
B
Hter
Anti-parallel
C
ufa=R
Irregular
D
sifrafia

Correct Ans : B

Subject : Environmental Study

Q.No: 63 The substance present in tea or coffee is:

2469439
1T T BT F T T arer ver §
Opium
A
B
Thorn apple
B

YR (Thorn apple)

Caffeine
C

FHA

Camphor
D

PR

Correct Ans : C

Subject : Environmental Study

Q.No: 64 The element responsible for groundwater pollution is:

2469442

ST UGN & RIER dd §:

Calcium
A

Hfexraw

Chlorine
B

FA

Fluoride
C

TARTES

D Potassium
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i Rmm

Correct Ans : C

Subject : Environmental Study

Q.No: 65 What is meant by Ex situ conservation?
2469494

TIRT I TR (Ex situ conservation) I T 3ifimmg 82

Conservation in liquid nitrogen at a temperature of —196°C

A
—196°C & AU TR @ ATgeIo § TET
Conservation of genetic resources in natural populations of plant or animal species
B
Y T AR B g B urpfaw SmeTdt # TdfRis THTEY BT W07
Conservation of a species by protecting its habitat along with all other species living there
C
TP U & STATT & WIY-ATY Jgi 761 aret 3= Gt yrfordl 1 HRar
Conservation of a species outside its natural habitat
D

ot yenifar &1 SUF WIpfaw® AT F SRR TR&r
Correct Ans : D

Subject : Environmental Study

Q.No: 66 Effect of weather on novel corona virus is:

2469508
T BRI IRRE W HRGH HT UHE §:
Cold temperature can inactivate the virus
A
ST ATYH IR &) FAifSr o) dwar @
Virus can’t survive in hot climate
B
T ey ® aRRY sifad 81 38 qhdr
Humidity can kill the virus
C
T TERY P UR THA &
It's not yet known
D

Tg onft a% Ja E 7
Correct Ans : D

Subject : Environmental Study

Q.No: 67 Fertilizer and energy both are available.

2469788
e @ AR T Suas 8 §-
Nuclear system
A
.
Thermal system
B

e WA

(o} Biogas system
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e v

Water electric system

Correct Ans : C

Subject : Environmental Study

Q.No: 68 The Valley of Flowers is

2469811
Tl @ Tt §-
Kerala
A
Ia b
Uttrakhand
B
IaRTEs &
Jammu and Kashmir
@
T SR A
Himachal Pradesh
D

feuTae W= ®

Correct Ans : B

Subject : Environmental Study

Q.No: 69 India has how many World Heritage Sites out of which 23 are Cultural Sites
2470677

R # foram fay R i@ § e @ 23 wiglos =@ §

35
A

35

83
B

83

29
c

29

40
D

40

Correct Ans : C

Subject : Environmental Study

Q.No: 70 Which programme and when did the Government of India introduced an objective of improving the quality of life of the rural people and also to
2470699 provide privacy and dignity to women?

YR WHR 3 AHior ARt & SHa 3 [oradt F GUR aF 3R AfResh & Mu=iadr ok WM UM 37 & 33 Y S T SRIGH 3R Fa Y= fobar e

Central Rural Sanitation Programme (CRSP) in 1986

1986 ¥ g Infivr W= a1 HrdwEw (Wemreadt)

B National Women Health and Sanitization (NWHS) in 1987
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1987 ¥ WPy wfen ey Sk Wl (TISyuaTH)
Total Sanitation Campaign Programme (TSCP) in 1990

1990 ¥ ¥quf W=sar @™ HrdwH (TSCP)

National Rural Development and Sanitation Programme (NRDSP) in 1988

1988 # PR yrfior i 3R Fawsd FRIFH (NRDSP)

Correct Ans : A

Subject : Environmental Study

Q.No: 71 How often does a mortar joints in masonry will normally require repointing?
2470749

g & HieRk it & wMrg TU W fat aR qAgfad @t sravagsar giit?

Every month

A

GG

Every 3 years
B

¥ 3 9

Every 20 years
(@

X 20 91

Every 50 years
D

B 50 91
Correct Ans : D

Subject : Environmental Study

Q.No: 72 In semi-arid regions of Rajasthan which one is the traditional system of storing drinking water in underground tanks are called
2472286

I F fef-gsp & H yffTd Tt F U F uFt & SR B URURe YoMt Bt T gl Sl §

khadins
A

et

Johads
B

igTe

Tankas
C

ot

kuls
D

Egaill

Correct Ans : C

Subject : Environmental Study

Q.No: 73 Which effect causes the storms to spin, and a hurricane is declared when this spinning mass of storms attains a wind speed greater than
2472314 74mph.

D I YHTG T 1 GH BT BRI I9dT 3, AR I T B! BIV0T 79 B S & o qWTH1 BT I8 AT §3i STAH 74mph I 4% 3 ga1 3 7 U1t et
Bl

A The Coriolis Effect
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FIRAE THE

radiation effect

B
fafzor gura
bruce effect
C
EGRCE
cascade effect
D

FRAT YUTT
Correct Ans : A

Subject : Environmental Study

Q.No: 74 Who among the following has recommended the need to clearly distinguish between family and household in the study of family in India?
2472554

g & J fPua uRa ¥ IRaR & 3iege 7 URaOR’ 9 "R’ F e 3icR B BT MIRTbT BT I BT 82

Tulsi Patel
A

et e

I.P. Desai
B

gt AT

P. Oberoi
C

b, sieRia

A.M. Shah
D

T.TH. =mE

Correct Ans : D

Subject : Environmental Study

Q.No: 75 Organic acid used in food preservation include

2472755
T TREOT B Tgad prap o § A §
Sulphuric acid
A
FeRgR®
Boric acid
B
NP ot
Hydrochloric acid
C
TSNS 3
Sorbic acid
D

Tifde e

Correct Ans : D

Subject : Environmental Study

Q.No: 76 Which of the following helps the body to adjust and fight the stress?
2472830
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fgfifed & @ $1F IR B 19 ¥ TS T GARING B | Heg Bdl 87

Insulin
A
e
Adrenaline
B
Siftrqas
Melatonin
C
EGICIEE]
Prolacin
D
LICIEE

Correct Ans : B

Subject : Environmental Study

Q.No: 77 Shenzhou is a space program of -

2474031
TS forwrpt siafker HrfsH 82
Japan
A
S
China
B
o=
South Korea
(@
oo e
Thailand
D
ur§ds

Correct Ans : B

Subject : Environmental Study

Q.No: 78 is the largest object in our solar system.
2474073
_____ TUR IR Fed B 999 991 ag B
Jupiter
A
Sun
B
Neptune
C
Pluto
D

Correct Ans : B

Subject : Environmental Study
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Q.No: 79 In which country is the Ataturk Dam situated?

2475774
AT Y 5 3w T 72
Russia
A
4
Turkey
B
@t
Germany
C
St
Finland
D
frds

Correct Ans : B

Subject : Environmental Study

Q.No: 80 Which among the following festivals is an important one for the Sindhi community?
2476430

frofafad & @ o9 o deR Rid 9ger & fow geayf 82

Baisakhi
A

et

Good Friday
B

TS WIES

Rishav dev Jayanti
(@

HU4 3d ot

Chalisa Mahotsav
D

T HEtd
Correct Ans : D

Subject : Environmental Study

Q.No: 81 Where is the headquarters of Squash Rackets Federation of India located?
2476574

W21 Yhe XM T Sf$aT &7 TEreg Fef Rud 872

Delhi
A

et

Jaipur
B

S

Bhupal
C

ffare

Chennai
D

g

Correct Ans : D
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Subject : Environmental Study

Q.No: 82 Officially, how many biodiversity hotspots does India have?
2477818

YR IR W, YRd § far Sia fafdyar auwe 82

6
A

6

3
B

a4
C

a4

5
D

5

Correct Ans : C

Subject : Environmental Study

Q.No: 83 In which of the following year, IPCC produced its first Assessment report?
2477902

fofeiaa & @ frg af &, 1PCC 7 oot Ugeh siipa ROl dOR Ft?

1984
A

1984

1986
B

1986

1988
C

1988

1990
D

1990

Correct Ans : D

Subject : Environmental Study

Q.No: 84 Where was coal gas used for street lighting for the first time in 1810?
2478001

1810 ¥ UG SR TSH! W AT & T Hiet 19 o1 STAATA bel fbaT T 412

New York
A
ey
London
B
ded
Paris
C
iRw

D Washington DC
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et SR
Correct Ans : B

Subject : Environmental Study

Q.No: 85 Natural vegetation refers to a plant community, which has grown naturally without human aid and has been left undisturbed by humans for a
3022619 long time. This type of vegetation is known as

T geafa & A T UTeU YHEr ¥ 7, S Ad FgRId] & [ Wi w0 3 e gon € ok o I & Agwl gR1 T el anen & @ fomm man g
TWUIGRB FTEAS P EUAIA @I

Exotic vegetation

A
=t ety
Virgin vegetation
B
FAR g
Natural vegetation
C
UTIpfa® aeafa
Flowering vegetation
D

Pal st gt
Correct Ans : B

Subject : Environmental Study

Q.No: 86 Which of these is not a valid reason for food security of India?
3022637

T A BN YRA H TTel YR $T Y HROT TET 82

Over population

A
STET SIS
Hoarding and black marketing
B
SHIERT 9 SIATETSIR
overflow of food stores
C
QR YR 1 sifevare
None of the given options
D

T e fawedt & @ w1 T
Correct Ans : C

Subject : Environmental Study

Q.No: 87 Food is directly cooked by utilising dry heat in
3022638

e e g e (gEt Sw) & gRT HieH T S §

Frying
A
e
Roasting
B
kSl

C Boiling
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SATAAT

None of the given options

fw e et & & w1 T
Correct Ans : B

Subject : Environmental Study

Q.No: 88 Which of the following is not a biodiversity hotspot in India?

3022661
fofafed & 9 o yRd & Ja [3fdedr awwa T8 82
Eastern Himalayas
A
ot fewmera
Western Ghats
B
uf3t are
Andaman and Nicobar Islands
C
U IR PR div agg
Aravali Hills
D

SRS e

Correct Ans : D

Subject : Environmental Study

Q.No: 89 The phenomenon that maintains the temperature and makes the earth perfect for life by trapping the sun’s heat near the earth’s surface and
3022668 keeping it warm is called what?

I8 °eAT Ol dIOHH 1§ G § TR Gt &) g & U g @t T 1 e SR 3 T Y@aR gt &Y S & e givgef sAdt 7, a9 w82

Global Warming

A
yHsHasEeR (veae affm)
Natural Greenhouse Effect
B
Wipfoe AeTSH UHIE
Global Cooling
C
ywsd e (Tead i)
Green Effect
D

T 9UE (A %)
Correct Ans : B

Subject : Environmental Study

Q.No: 90 Which of the following is not a man made lake?
3022706

frofifead & @ S 9@ Are fifa a7 22

Bhojtal Lake

AfieraTa ha

B Jaisamand lake
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SraHg $i
Hirakud lake

C
ERTPS e
Dal lake
D
@ i

Correct Ans : D

Subject : Environmental Study

Passage:

Direction: Read the given poem and answer the question given below accordingly.
A trick that everyone abhors

In little girls is slamming doors.

A wealthy banker’s little daughter
Who lived in Palace Green, Bayswater
(By name Rebecca Offendort),

Was given to this furious sport.

She would deliberately go

And slam the door like billy-o!

To make her uncle Jacob start.

She was not really bad at heart,

But only rather rude and wild;

She was an aggravating child...

(22“1'\‘7%9%1250 ‘A trick that everyone abhors’. What does the word ‘abhor’ mean in the given line of the poem?
A a strong liking or preference

B enthusiastic approval

C a predisposition in favour of something

D hate a way of behaving or thinking

Correct Ans : D

Subject : English Language 02

Passage:

Direction: Read the given poem and answer the question given below accordingly.
A trick that everyone abhors

In little girls is slamming doors.

A wealthy banker’s little daughter
Who lived in Palace Green, Bayswater
(By name Rebecca Offendort),

Was given to this furious sport.

She would deliberately go

And slam the door like billy-o!

To make her uncle Jacob start.

She was not really bad at heart,

But only rather rude and wild;

She was an aggravating child...
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Q.No: 92 ‘She was an aggravating child’. Which of the following is opposite in meaning to the word ‘aggravating’ in the given line?

247093281

A pleasing

B troublesome
C abusive

D blunt

Correct Ans : A

Subject : English Language 02

Passage:

Direction: Read the given poem and answer the question given below accordingly.
A trick that everyone abhors

In little girls is slamming doors.

A wealthy banker’s little daughter
Who lived in Palace Green, Bayswater
(By name Rebecca Offendort),

Was given to this furious sport.

She would deliberately go

And slam the door like billy-o!

To make her uncle Jacob start.

She was not really bad at heart,

But only rather rude and wild;

She was an aggravating child...

%1'\‘7%9%3252 Where does the girl live?
A in a palace
B in the speaker’s house
C in the speaker’s heart
D in a forest

Correct Ans : A

Subject : English Language 02

Passage:

Direction: Read the given poem and answer the question given below accordingly.
A trick that everyone abhors

In little girls is slamming doors.

A wealthy banker’s little daughter
Who lived in Palace Green, Bayswater
(By name Rebecca Offendort),

Was given to this furious sport.

She would deliberately go

And slam the door like billy-o!

To make her uncle Jacob start.

She was not really bad at heart,

But only rather rude and wild;

She was an aggravating child...

Q.No: 94

247093253 She was not really bad at heart’. Which part of speech is the word ‘really’ in the given line of the poem?

A preposition
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B determiner
C intensifier
D adverb
Correct Ans : D

Subject : English Language 02

Passage:

Direction: Read the given poem and answer the question given below accordingly.
A trick that everyone abhors

In little girls is slamming doors.

A wealthy banker’s little daughter
Who lived in Palace Green, Bayswater
(By name Rebecca Offendort),

Was given to this furious sport.

She would deliberately go

And slam the door like billy-o!

To make her uncle Jacob start.

She was not really bad at heart,

But only rather rude and wild;

She was an aggravating child...

(224'\17%:35254 Who is Jacob in the given poem?
A Rebecca’s father

B Rebecca’s uncle

C Narrator’s uncle

D Narrator’s dog

Correct Ans : B

Subject : English Language 02

Passage:

Direction: Read the given poem and answer the question given below accordingly.
A trick that everyone abhors

In little girls is slamming doors.

A wealthy banker’s little daughter
Who lived in Palace Green, Bayswater
(By name Rebecca Offendort),

Was given to this furious sport.

She would deliberately go

And slam the door like billy-o!

To make her uncle Jacob start.

She was not really bad at heart,

But only rather rude and wild;

She was an aggravating child...

Q.No: 96 . Lo . . . N
247093255 Which of the following is the most suitable title for the given poem?
A Furious sport

B Rebecca
C Nature of girls
D

Jacob
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Correct Ans : B

Subject : English Language 02

Passage:

Direction: Read the given poem and answer the question given below accordingly.
A trick that everyone abhors

In little girls is slamming doors.

A wealthy banker’s little daughter
Who lived in Palace Green, Bayswater
(By name Rebecca Offendort),

Was given to this furious sport.

She would deliberately go

And slam the door like billy-o!

To make her uncle Jacob start.

She was not really bad at heart,

But only rather rude and wild;

She was an aggravating child...

(22;1'\‘7%9937256 Which of the following is nearest in meaning to the word ‘rude’ in the given poem?
A Polite

B Insulting

C Exact

D Smooth

Correct Ans : B

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

Antisemitism is hostility to, prejudice towards, or discrimination against Jews. A person who holds such positions is called an antisemite. Antisemitism is
considered to be a form of racism. Antisemitism may be manifested in many ways, ranging from expressions of hatred of or discrimination against
individual Jews to organized pogroms by mobs or police forces, or even military attacks on entire Jewish communities. Although the term did not come into
common usage until the 19th century, it is also applied to previous and later anti-Jewish incidents. Notable instances of persecution include the Rhineland
massacres preceding the First Crusade in 1096, the Edict of Expulsion from England in 1290, the 1348-1351 persecution of Jews during the Black Death,
the massacres of Spanish Jews in 1391, the persecutions of the Spanish Inquisition, the expulsion from Spain in 1492, the Cossack massacres in Ukraine
from 1648 to 1657, various anti-Jewish pogroms in the Russian Empire between 1821 and 1906, the 1894-1906 Dreyfus affair in France, the Holocaust in
German-occupied Europe during World War II and Soviet anti-Jewish policies. Though historically most manifestations of antisemitism have taken place in
Christian Europe, since the early 20th century, especially under the influence of Nazi Germany, antisemitism has increased in the Middle East, resulting in
Arab and Muslim antipathy to Jews and sometimes attacks on Jewish communities leading to the Jewish exodus from Arab and Muslim countries.

The root word Semite gives the false impression that antisemitism is directed against all Semitic people, e.g., including Arabs, Assyrians and Arameans.
The compound word Antisemitismus (‘antisemitism') was first used in print in Germany in 1879 as a scientific-sounding term for Judenhass ('Jew-hatred'),
and this has been its common use since then. From the outset the term "anti-Semitism" bore special racial connotations and meant specifically prejudice

against Jews. The term is confusing, for in modern usage 'Semitic' designates a language group, not a race. In this sense, the term is a misnomer, since
there are many speakers of Semitic languages (e.g. Arabs, Ethiopians, and Arameans) who are not the objects of antisemitic prejudices, while there are
many Jews who do not speak Hebrew, a Semitic language. Though 'antisemitism' could be construed as prejudice against people who speak other Semitic
languages, this is not how the term is commonly used.

(224'\17%918650 Antisemitism is considered to be a form of which of the following?
A racism

B justice

C publicity

D alacrity

Correct Ans : A
Subject : English Language 02
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Passage:

Read the passage given below and then answer the questions given below the passage.

Antisemitism is hostility to, prejudice towards, or discrimination against Jews. A person who holds such positions is called an antisemite. Antisemitism is
considered to be a form of racism. Antisemitism may be manifested in many ways, ranging from expressions of hatred of or discrimination against
individual Jews to organized pogroms by mobs or police forces, or even military attacks on entire Jewish communities. Although the term did not come into
common usage until the 19th century, it is also applied to previous and later anti-Jewish incidents. Notable instances of persecution include the Rhineland
massacres preceding the First Crusade in 1096, the Edict of Expulsion from England in 1290, the 1348-1351 persecution of Jews during the Black Death,
the massacres of Spanish Jews in 1391, the persecutions of the Spanish Inquisition, the expulsion from Spain in 1492, the Cossack massacres in Ukraine
from 1648 to 1657, various anti-Jewish pogroms in the Russian Empire between 1821 and 1906, the 1894-1906 Dreyfus affair in France, the Holocaust in
German-occupied Europe during World War II and Soviet anti-Jewish policies. Though historically most manifestations of antisemitism have taken place in
Christian Europe, since the early 20th century, especially under the influence of Nazi Germany, antisemitism has increased in the Middle East, resulting in
Arab and Muslim antipathy to Jews and sometimes attacks on Jewish communities leading to the Jewish exodus from Arab and Muslim countries.

The root word Semite gives the false impression that antisemitism is directed against all Semitic people, e.g., including Arabs, Assyrians and Arameans.
The compound word Antisemitismus (‘antisemitism') was first used in print in Germany in 1879 as a scientific-sounding term for Judenhass ('Jew-hatred'),
and this has been its common use since then. From the outset the term "anti-Semitism" bore special racial connotations and meant specifically prejudice

against Jews. The term is confusing, for in modern usage 'Semitic' designates a language group, not a race. In this sense, the term is a misnomer, since
there are many speakers of Semitic languages (e.g. Arabs, Ethiopians, and Arameans) who are not the objects of antisemitic prejudices, while there are
many Jews who do not speak Hebrew, a Semitic language. Though 'antisemitism' could be construed as prejudice against people who speak other Semitic
languages, this is not how the term is commonly used.

(22;1’\170(;9989651 The incident called ‘the Edict of Expulsion’ originally took place in which of the following countries?
A England

B Spain

C France

D Ukraine

Correct Ans : A

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

Antisemitism is hostility to, prejudice towards, or discrimination against Jews. A person who holds such positions is called an antisemite. Antisemitism is
considered to be a form of racism. Antisemitism may be manifested in many ways, ranging from expressions of hatred of or discrimination against
individual Jews to organized pogroms by mobs or police forces, or even military attacks on entire Jewish communities. Although the term did not come into
common usage until the 19th century, it is also applied to previous and later anti-Jewish incidents. Notable instances of persecution include the Rhineland
massacres preceding the First Crusade in 1096, the Edict of Expulsion from England in 1290, the 1348-1351 persecution of Jews during the Black Death,
the massacres of Spanish Jews in 1391, the persecutions of the Spanish Inquisition, the expulsion from Spain in 1492, the Cossack massacres in Ukraine
from 1648 to 1657, various anti-Jewish pogroms in the Russian Empire between 1821 and 1906, the 1894-1906 Dreyfus affair in France, the Holocaust in
German-occupied Europe during World War II and Soviet anti-Jewish policies. Though historically most manifestations of antisemitism have taken place in
Christian Europe, since the early 20th century, especially under the influence of Nazi Germany, antisemitism has increased in the Middle East, resulting in
Arab and Muslim antipathy to Jews and sometimes attacks on Jewish communities leading to the Jewish exodus from Arab and Muslim countries.

The root word Semite gives the false impression that antisemitism is directed against all Semitic people, e.g., including Arabs, Assyrians and Arameans.
The compound word Antisemitismus (‘antisemitism') was first used in print in Germany in 1879 as a scientific-sounding term for Judenhass ('Jew-hatred'),
and this has been its common use since then. From the outset the term "anti-Semitism" bore special racial connotations and meant specifically prejudice

against Jews. The term is confusing, for in modern usage 'Semitic' designates a language group, not a race. In this sense, the term is a misnomer, since
there are many speakers of Semitic languages (e.g. Arabs, Ethiopians, and Arameans) who are not the objects of antisemitic prejudices, while there are
many Jews who do not speak Hebrew, a Semitic language. Though 'antisemitism' could be construed as prejudice against people who speak other Semitic
languages, this is not how the term is commonly used.

(224'\;00:9180252 Which of the following incidents took place in Ukraine?
A Persecution of Jews during the Black Death

B The Cossack massacres

C Dreyfus affair

D The Holocaust

Correct Ans : B

Subject : English Language 02
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Passage:

Read the passage given below and then answer the questions given below the passage.

Antisemitism is hostility to, prejudice towards, or discrimination against Jews. A person who holds such positions is called an antisemite. Antisemitism is
considered to be a form of racism. Antisemitism may be manifested in many ways, ranging from expressions of hatred of or discrimination against
individual Jews to organized pogroms by mobs or police forces, or even military attacks on entire Jewish communities. Although the term did not come into
common usage until the 19th century, it is also applied to previous and later anti-Jewish incidents. Notable instances of persecution include the Rhineland
massacres preceding the First Crusade in 1096, the Edict of Expulsion from England in 1290, the 1348-1351 persecution of Jews during the Black Death,
the massacres of Spanish Jews in 1391, the persecutions of the Spanish Inquisition, the expulsion from Spain in 1492, the Cossack massacres in Ukraine
from 1648 to 1657, various anti-Jewish pogroms in the Russian Empire between 1821 and 1906, the 1894-1906 Dreyfus affair in France, the Holocaust in
German-occupied Europe during World War II and Soviet anti-Jewish policies. Though historically most manifestations of antisemitism have taken place in
Christian Europe, since the early 20th century, especially under the influence of Nazi Germany, antisemitism has increased in the Middle East, resulting in
Arab and Muslim antipathy to Jews and sometimes attacks on Jewish communities leading to the Jewish exodus from Arab and Muslim countries.

The root word Semite gives the false impression that antisemitism is directed against all Semitic people, e.g., including Arabs, Assyrians and Arameans.
The compound word Antisemitismus (‘antisemitism') was first used in print in Germany in 1879 as a scientific-sounding term for Judenhass ('Jew-hatred'),
and this has been its common use since then. From the outset the term "anti-Semitism" bore special racial connotations and meant specifically prejudice

against Jews. The term is confusing, for in modern usage 'Semitic' designates a language group, not a race. In this sense, the term is a misnomer, since
there are many speakers of Semitic languages (e.g. Arabs, Ethiopians, and Arameans) who are not the objects of antisemitic prejudices, while there are
many Jews who do not speak Hebrew, a Semitic language. Though 'antisemitism' could be construed as prejudice against people who speak other Semitic
languages, this is not how the term is commonly used.

(22;1'\‘7%91806153 Which of the following statements is NOT correct here according to the given passage?
A there were also some Soviet anti-Jewish policies

B most manifestations of antisemitism have taken place in Christian Europe

C antisemitism has increased in the Middle East

D there are few Jews who do not speak Hebrew

Correct Ans : D

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

Antisemitism is hostility to, prejudice towards, or discrimination against Jews. A person who holds such positions is called an antisemite. Antisemitism is
considered to be a form of racism. Antisemitism may be manifested in many ways, ranging from expressions of hatred of or discrimination against
individual Jews to organized pogroms by mobs or police forces, or even military attacks on entire Jewish communities. Although the term did not come into
common usage until the 19th century, it is also applied to previous and later anti-Jewish incidents. Notable instances of persecution include the Rhineland
massacres preceding the First Crusade in 1096, the Edict of Expulsion from England in 1290, the 1348-1351 persecution of Jews during the Black Death,
the massacres of Spanish Jews in 1391, the persecutions of the Spanish Inquisition, the expulsion from Spain in 1492, the Cossack massacres in Ukraine
from 1648 to 1657, various anti-Jewish pogroms in the Russian Empire between 1821 and 1906, the 1894-1906 Dreyfus affair in France, the Holocaust in
German-occupied Europe during World War II and Soviet anti-Jewish policies. Though historically most manifestations of antisemitism have taken place in
Christian Europe, since the early 20th century, especially under the influence of Nazi Germany, antisemitism has increased in the Middle East, resulting in
Arab and Muslim antipathy to Jews and sometimes attacks on Jewish communities leading to the Jewish exodus from Arab and Muslim countries.

The root word Semite gives the false impression that antisemitism is directed against all Semitic people, e.g., including Arabs, Assyrians and Arameans.
The compound word Antisemitismus (‘antisemitism') was first used in print in Germany in 1879 as a scientific-sounding term for Judenhass ('Jew-hatred'),
and this has been its common use since then. From the outset the term "anti-Semitism" bore special racial connotations and meant specifically prejudice

against Jews. The term is confusing, for in modern usage 'Semitic' designates a language group, not a race. In this sense, the term is a misnomer, since
there are many speakers of Semitic languages (e.g. Arabs, Ethiopians, and Arameans) who are not the objects of antisemitic prejudices, while there are
many Jews who do not speak Hebrew, a Semitic language. Though 'antisemitism' could be construed as prejudice against people who speak other Semitic
languages, this is not how the term is commonly used.

(224'\;00:91806254 ‘Notable instances of persecution include’. Which part of speech is the word ‘notable’ in the given line of the passage?
A adverb

B pronoun

C adjective

D noun

Correct Ans : C

Subject : English Language 02
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Passage:

Read the passage given below and then answer the questions given below the passage.

Antisemitism is hostility to, prejudice towards, or discrimination against Jews. A person who holds such positions is called an antisemite. Antisemitism is
considered to be a form of racism. Antisemitism may be manifested in many ways, ranging from expressions of hatred of or discrimination against
individual Jews to organized pogroms by mobs or police forces, or even military attacks on entire Jewish communities. Although the term did not come into
common usage until the 19th century, it is also applied to previous and later anti-Jewish incidents. Notable instances of persecution include the Rhineland
massacres preceding the First Crusade in 1096, the Edict of Expulsion from England in 1290, the 1348-1351 persecution of Jews during the Black Death,
the massacres of Spanish Jews in 1391, the persecutions of the Spanish Inquisition, the expulsion from Spain in 1492, the Cossack massacres in Ukraine
from 1648 to 1657, various anti-Jewish pogroms in the Russian Empire between 1821 and 1906, the 1894-1906 Dreyfus affair in France, the Holocaust in
German-occupied Europe during World War II and Soviet anti-Jewish policies. Though historically most manifestations of antisemitism have taken place in
Christian Europe, since the early 20th century, especially under the influence of Nazi Germany, antisemitism has increased in the Middle East, resulting in
Arab and Muslim antipathy to Jews and sometimes attacks on Jewish communities leading to the Jewish exodus from Arab and Muslim countries.

The root word Semite gives the false impression that antisemitism is directed against all Semitic people, e.g., including Arabs, Assyrians and Arameans.
The compound word Antisemitismus (‘antisemitism') was first used in print in Germany in 1879 as a scientific-sounding term for Judenhass ('Jew-hatred'),
and this has been its common use since then. From the outset the term "anti-Semitism" bore special racial connotations and meant specifically prejudice

against Jews. The term is confusing, for in modern usage 'Semitic' designates a language group, not a race. In this sense, the term is a misnomer, since
there are many speakers of Semitic languages (e.g. Arabs, Ethiopians, and Arameans) who are not the objects of antisemitic prejudices, while there are
many Jews who do not speak Hebrew, a Semitic language. Though 'antisemitism' could be construed as prejudice against people who speak other Semitic
languages, this is not how the term is commonly used.

Q.No: 103 ‘Antisemitism may be manifested in many ways’. Which part of speech is the word ‘many’ in the given line of the passage?
2470986S5

A determiner

B pronoun

C noun

D conjunction

Correct Ans : A

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

Antisemitism is hostility to, prejudice towards, or discrimination against Jews. A person who holds such positions is called an antisemite. Antisemitism is
considered to be a form of racism. Antisemitism may be manifested in many ways, ranging from expressions of hatred of or discrimination against
individual Jews to organized pogroms by mobs or police forces, or even military attacks on entire Jewish communities. Although the term did not come into
common usage until the 19th century, it is also applied to previous and later anti-Jewish incidents. Notable instances of persecution include the Rhineland
massacres preceding the First Crusade in 1096, the Edict of Expulsion from England in 1290, the 1348-1351 persecution of Jews during the Black Death,
the massacres of Spanish Jews in 1391, the persecutions of the Spanish Inquisition, the expulsion from Spain in 1492, the Cossack massacres in Ukraine
from 1648 to 1657, various anti-Jewish pogroms in the Russian Empire between 1821 and 1906, the 1894-1906 Dreyfus affair in France, the Holocaust in
German-occupied Europe during World War II and Soviet anti-Jewish policies. Though historically most manifestations of antisemitism have taken place in
Christian Europe, since the early 20th century, especially under the influence of Nazi Germany, antisemitism has increased in the Middle East, resulting in
Arab and Muslim antipathy to Jews and sometimes attacks on Jewish communities leading to the Jewish exodus from Arab and Muslim countries.

The root word Semite gives the false impression that antisemitism is directed against all Semitic people, e.g., including Arabs, Assyrians and Arameans.
The compound word Antisemitismus (‘antisemitism') was first used in print in Germany in 1879 as a scientific-sounding term for Judenhass ('Jew-hatred'),
and this has been its common use since then. From the outset the term "anti-Semitism" bore special racial connotations and meant specifically prejudice

against Jews. The term is confusing, for in modern usage 'Semitic' designates a language group, not a race. In this sense, the term is a misnomer, since
there are many speakers of Semitic languages (e.g. Arabs, Ethiopians, and Arameans) who are not the objects of antisemitic prejudices, while there are
many Jews who do not speak Hebrew, a Semitic language. Though 'antisemitism' could be construed as prejudice against people who speak other Semitic
languages, this is not how the term is commonly used.

(224'\;00:9180:56 Which of the following is nearest in meaning to the word ‘discrimination’?
A tolerance

B justice

C partiality

D indifference

Correct Ans : C

Subject : English Language 02
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Passage:

Read the passage given below and then answer the questions given below the passage.

Antisemitism is hostility to, prejudice towards, or discrimination against Jews. A person who holds such positions is called an antisemite. Antisemitism is
considered to be a form of racism. Antisemitism may be manifested in many ways, ranging from expressions of hatred of or discrimination against
individual Jews to organized pogroms by mobs or police forces, or even military attacks on entire Jewish communities. Although the term did not come into
common usage until the 19th century, it is also applied to previous and later anti-Jewish incidents. Notable instances of persecution include the Rhineland
massacres preceding the First Crusade in 1096, the Edict of Expulsion from England in 1290, the 1348-1351 persecution of Jews during the Black Death,
the massacres of Spanish Jews in 1391, the persecutions of the Spanish Inquisition, the expulsion from Spain in 1492, the Cossack massacres in Ukraine
from 1648 to 1657, various anti-Jewish pogroms in the Russian Empire between 1821 and 1906, the 1894-1906 Dreyfus affair in France, the Holocaust in
German-occupied Europe during World War II and Soviet anti-Jewish policies. Though historically most manifestations of antisemitism have taken place in
Christian Europe, since the early 20th century, especially under the influence of Nazi Germany, antisemitism has increased in the Middle East, resulting in
Arab and Muslim antipathy to Jews and sometimes attacks on Jewish communities leading to the Jewish exodus from Arab and Muslim countries.

The root word Semite gives the false impression that antisemitism is directed against all Semitic people, e.g., including Arabs, Assyrians and Arameans.
The compound word Antisemitismus (‘antisemitism') was first used in print in Germany in 1879 as a scientific-sounding term for Judenhass ('Jew-hatred'),
and this has been its common use since then. From the outset the term "anti-Semitism" bore special racial connotations and meant specifically prejudice

against Jews. The term is confusing, for in modern usage 'Semitic' designates a language group, not a race. In this sense, the term is a misnomer, since
there are many speakers of Semitic languages (e.g. Arabs, Ethiopians, and Arameans) who are not the objects of antisemitic prejudices, while there are
many Jews who do not speak Hebrew, a Semitic language. Though 'antisemitism' could be construed as prejudice against people who speak other Semitic
languages, this is not how the term is commonly used.

(22;1'\‘7%91806557 What does the word ‘prejudice’ mean in the given passage?

A official acceptance or agreement

B being of questionable authenticity

C having an abundant supply of money or possessions of value
D an unfair and unreasonable opinion or feeling

Correct Ans : D

Subject : English Language 02

24’;015017036 A child centred classroom is characterised by which of the following?
A very passive teachers and active learners

B children sitting in the centre of the classroom

C a variety of learning activities for the learners

D all of the given options

Correct Ans : C

Subject : English Language 02

24%0;017047 Knowledge of more than one language —

A is very helpful in teaching and learning a new language
B confuses the learner while learning a new language

C becomes burden to the teacher in a language classroom
D causes interference in learning a new language

Correct Ans : A

Subject : English Language 02

Q.No: 108 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually
2471184 (qrrect.

Be a bit more in yourself!
A goal
B thank
C confident
D taste

Correct Ans : C
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Subject : English Language 02

Q.No: 109 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually
2471185 (orrect.

Protestors were executed, jailed or persecuted.
A otherwise
B above
C away
D when

Correct Ans : A

Subject : English Language 02

Q.No: 110 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually
2471237 (orrect.

For babies, breastfeeding is superior bottle-feeding.
A to
B than
C from
D of

Correct Ans : A

Subject : English Language 02

Q.No: 111 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually
2471238 (orrect.

They were for the worst.
A spot
B incline
C normally
D prepared

Correct Ans : D

Subject : English Language 02

24%0;317192 Who among the following made this statement: “Language is one of the most important and characteristic forms of human behaviour”
A Maclver and Page

B Mahatma Gandhi

C Max Muller

D Gleason

Correct Ans : D

Subject : English Language 02

(22;1’\170133181(;5 For which of the following purposes the English language is used in India?
A wider communication

B prestige symbol

C access to quality literature

D all of the given choices

Correct Ans : D

Subject : English Language 02

Q.No: 114

2471495 Through the use of proper language, we try to influence the behaviour and attitudes of others. This function of language can be classified as —
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expressive function
directive function
fulfilment of needs

all of the given options

Correct Ans : B

Subject : English Language 02

Q.No: 115
2471496

A
B
C
D

The interaction routine during speaking assessment includes —

describing one's school or its environment informally
negotiating meaning, taking turns and allowing others to take turns
telephone conversation with other learner

comparing two or more objects/ places for the assessor

Correct Ans : B

Subject : English Language 02

Q.No: 116
2471560

A
B
C
D

Using the target language without the help of mother tongue is called—

translation method of teaching
direct method of teaching
bilingual method of teaching

structural method of teaching

Correct Ans : B

Subject : English Language 02

Q.No: 117
2471561

A
B
C
D

A method in which rules are applied in specific situations is known as —

inductive
incidental
correlative

deductive

Correct Ans : D

Subject : English Language 02

Q.No: 118
2471705

A
B
C
D

Answer the question by selecting the correct/most appropriate option.

Which reading comprehension asks the logical or reasoning questions at the end of the text?
Lexical Comprehension

Literal comprehension

Applied Comprehension

Affective Comprehension

Correct Ans : C

Subject : English Language 02

Q.No: 119
2471706

A
B
C
D

Answer the question by selecting the correct/most appropriate option.
Contiguity Principle states that

For learning, graphics are not required

Textbook learning is important.

Text and graphics are tightly integrated

Graphics are differentiated from the text.

Correct Ans : C

Subject : English Language 02

Q.No: 120
2471808

A

Audio visual aids do not help a teacher

To make learning process natural
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B To create lively situations
C To conduct tests
D To make teaching & learning entertaining

Correct Ans : C

Subject : English Language 02

Q.No: 121 Academic achievement of a student depends on ....
2474416

1. Affective

2. Environmental

3. Bio-social

TS B I el IJuarss FRP W R w2
1. gHTEt

2. g

3. 99 g

Only 1

Fad 1
Only 2

Fad 2
Only 3

Fad 3
All1,2and 3

qift1, 28R 3

Correct Ans : D

Subject : Child Developement

Q.No: 122 motives deal with the need to reach satisfying feeling states and to obtain personal goals
2474477

I TS TSR @1 R 3R fekiTd @eall &1 U R 1 SHTa=gehal $T I A §

effective
A
quTet
affective
B
S
preservation-oriented
(@
afeaor Hfga
safety-oriented
D

JRen Fiea
Correct Ans : A
Subject : Child Developement

Q.No: 123 Research suggests that in a diverse classroom, a teacher’s expectations from her students their learning
2474507

MY T & [ SreT-3rerT el F Riere Bt Rl ¥ semt S Fre Hl


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

are the sole determinant of

A

¥ RRrd o FruRe &

should not be correlated with
B

¥ wafta 78Y g wifee

do not have any effort on
C

¥ g F1 yarmr T Y

have a significant impact on
D

W g@yuf yuTE usar @
Correct Ans : D

Subject : Child Developement

Q.No: 124 The determinants of individual differences in humans relate to
2474508

Tt § e fma & Fuke el ddfiy &

differences in their environment

A
IF TR F S
differences in their heredity
B
IAPT SATFARIBaT A SR
differences in both heredity and environment
C
STFARIFaT 3R TR St # 3R
an interaction between the factors of heredity and factors of the environment
D

AIARIFAT & BRI 3R IR F PRSI & &g TP 3ia:fpar
Correct Ans : D

Subject : Child Developement

Q.No: 125 To cater to individual differences in his classroom, a teacher should
2476107

TR Fefl B kT HANal B R I & o, T g &Y 1 S Ay 2

Segregate and label children based on their marks

A

T P AT B T 3B F YR W I7 Al ST

engage in a dialogue with students and value their perspectives
B

B & WY GG B IS SRBI0 B g &1

impose strict rules upon his students
C

A BT W FS BIA AT

have a uniform and standard ways of teaching and assessment
D

Y 3R MHA BT Th A HHGS 99 BT
Correct Ans : B

Subject : Child Developement
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Q.No: 126 Thinking is a part of cognition because

2476332
Trer ey 1 U o € i
it helps in directing attention towards a stimulus
A
g o IAe1 1 AR o FRERE s A Hag Bea §
it helps in receiving information
B
Tg BT U I & 7GE BT 8
it helps in processing information received
C
g UTe SHT B TETBI0T B3 & Weg SRl &
all of the given options
D

e e @t fawe

Correct Ans : C

Subject : Child Developement

Q.No: 127 The first word a child uses represents
2476335

A1 T YW Teq &1 YT el © 98 a2l §

space
A
Eurd
time
B
qq
abstract ideas
(@
IR fErR
concrete objects
D

a1 fawg

Correct Ans : D

Subject : Child Developement

Q.No: 128 The children suffer from lack of self-esteem when they are
2476355

T SHTH-THM B! B § difed 81 € o At
not allowed to eat what they want
A
3 <t TTEd § S WM $Y A T It ©
not able to express their feelings through words or language
B
TAGT AT UTHT & ATHH | U WIGTSH P o g1 FX Fhad
are not allowed to play with friends
C
Sl & w1y Qe Ft argafa T et §
Not expressive
D

WIEaR® g

Correct Ans : B
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Subject : Child Developement

Q.No: 129 The inappropriate method of motivation is -

2476370
SR 1 SRR aieT -
Punishment
A
el
Praise and Blame
B
R SR gy
Knowledge of Progress
C
wIfa &1 I
Competition
D

wfaafrar

Correct Ans : A

Subject : Child Developement

Q.No: 130 What are some of the Home influences that contributes to sex differences in ability?
2476686

S W UHTG FT § S drgaredt F fT O F direm wxd 82

Parental Expectations, Contributions of boys and girls, Children externalise parents’ view

A

HraT-feT #1 30emd, T 3R dsfPal o1 ANeH, T= ATdT-fdr & Toe @ W o §

Parental Expectations, Contributions of boys only, Children internalise parents’ view
B

HraT-feT #1 30ed, TS ST ANIGH, T2 ATal-fdar & AR &) e o3d &

Parental Expectations, Attributions of boys and girls, Children internalise parents’ view
C

HraT-feT #1 3emd, ded R asfral P favar, o= Arar-far & fER $ arera w3 &

Parental Expectations, Attributions of boys and girls, Children externalise parents’ view
D

arar-fra # srdeny, asd R AsfHal Ht fativar, o= war-fiar & Foie | W o
Correct Ans : C

Subject : Child Developement

Q.No: 131 Now a days, there is a tendency to refer to ‘wrong concepts’ of children as ‘alternative conceptions’. This could be attributed to
2476688

Thd Tl Bl TTATHERAN B ‘It JTURUNY B B! Ughi ¥ 39 1T FICR Seman S Tl §

recognition that children are capable of thinking and their thinking is different from that of adults

A

A ¥ = Hie & e § ok STt W quwe! o W @ s @

children understanding being nuanced and their being passive in their own learning
B

ot 3 oA T & Hiem # gen ok Fifsra s

using fancy terms to describe children’s errors
C

Tl B Tefaal BT quie B & o1 Bl weal BT IuET BT

D children being though of an adult like in their thinking
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= 99 gid gt oo W & SR

Correct Ans : A

Subject : Child Developement

Q.No: 132 When a teacher gives stars (the better the work, the more the stars) in the notebook of a learner:
2476939
1. It becomes a stimulus that demotivates the learner.
2. It is a classic example of reinforcement, where learning occurs through use of consequences to strengthen behaviour.

Which of the above is true? Choose the correct code.

9 TP e o Rl ot Aege § KRR a1 8 (Ria SgR a5/, I & ot Rar):
1. T8 TP Tieae (KRIerd) & Sirar § off Rienelf & gaeied o=ar g1
2. I8 GEAH0 (YPIHT) BT U IPY a6 €, el TaER ) Holgel B & g TRumE & IudiT & wed | SR g 21

IR & I HH T I 32 T BIS A
Only 1
A
Fad 1
Only 2
B
Fad 2
Both 1 and 2
C
T 1 3R 2
Neither 1 nor 2
D

Aa1eRAE2

Correct Ans : B

Subject : Child Developement

Q.No: 133 The period of 2 to 4 years in the development of a child is known as
2477087

T & b 3 3@l Y 2 af F 4 af db & T T ST ST B

Infancy
A

ATaTaRIT

Childhood
B

CELE]

Boyhood or girlhood
C

ASHY T SITPTaRIT

None of the given options
D

g e fawedt & @ HIE TE
Correct Ans : B

Subject : Child Developement

Q.No: 134 Analyze the statement and choose the correct option.
2477416
Statement (i): Memory and percepts fade with age and experience

Statement (ii): A wide range of experiences is essential for the formulation of concepts
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FU BT oo FH SR et fawed &1 757 PRI
PYT (i) 3R UROT I &R SHa b A1y v e Wl §
FU (ii):3auRonSH & Fmfor & R ergval v faga sfaen s §

Statement (i) is true and (ii) is false

A
P (i) U § IR (i) o 7
Statement (ii) is true and (i) is false
B
P (i) T 7 SR (i) I 7
Both statements are true
C
Sl BT W &
Both statements are false
D

Y HUT ST §
Correct Ans : B

Subject : Child Developement

Q.No: 135 A child is emotionally disturbed when his reactions to life situation is?
2477574

U ST HIGTTHS U I WM il & o sita 31 fufa & ufa Iuet ufafbar et 82

Unacceptable to his peers

A
AP G & g st
Acceptable to his family
B
P URAR & forg wiert
Rewarding to himself
C
& B [EPpq
Acceptable to members of society
D

A & wewl & o wierd
Correct Ans : A

Subject : Child Developement

Q.No: 136 In which year did the Indian Government accede to the Convention on the Rights of the Child of the United Nations?
2477755

HRA WHR 7 TYa IF F 1A USRI R T (F-9%H 37 € T3¢y 31K T15eS) I 59 a¥ Wier foar ur

1985
A

1985

1990
B

1990

1992
C

1992

1995
D

1995

Correct Ans : C
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Subject : Child Developement

Q.No: 137 The Juvenile Justice (Care and Protection of Children) Act, 2015 provides special provisions for heinous offences committed by children above
2477761 the age of -

PR =g (S=t Bt WU SR TReron) ififem, 2015 frw Fufafad af ¥ it Su & T=i gRT iU 7T So=g SroRTel & fore ARy wrae™ veH wRar 32

twelve years

A
9RE AT
fourteen years
B
eg WA
fifteen years
(@
Ugg |
sixteen years
D

GGG
Correct Ans : D

Subject : Child Developement

Q.No: 138 Which of the following should be the preferred types of learning materials in the inclusive education system?
2478158

i) No cost

i) Low cost

iii) Teacher made

iv) Culture specific

Choose the correct code

grrasht e yomeh # Frafofea & & o @ st arEh @1 787 TeR S e
i) fom1 I AT areh s

i) 9 ANTd are TR

iii) frere gRY =TS TR Il

iv) Tepfa fafkry arelt amht

GHEACE:C!

i), ii) and iii) only

i), ii) R iii) Paa

i), iii) and iv) only

i), iii) 3R iv) Paa

ii) and iii) only

i) 3R iii) Faa

i), ii), iii) and iv)

i), ii), iii) 3T iv)
Correct Ans : D

Subject : Child Developement

Q.No: 139 Which of the following symptoms is/are indicative of a child with learning disabilities?
2478300

i.Poor in mathematical calculations
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ii.Problems in accurate copying from the common sources like a book or blackboard, even though the vision of the child is normal

Choose the correct code

Frofafad & & SIF 91 &0 ST SRIGddT a1d = BT ohd 8/8?

i) TR U & HESIR B

i) I Tl S fpdTe a1 Sidbals ¥ TS Tbd S T TEAT, v & I 3 2 IE B
Tl ge I -

i) only

i) Paa

ii) only

i) ¥aq
Both i) and ii)

i) 3R i) S

Neither i) nor ii)

T i) T i)
Correct Ans : C

Subject : Child Developement

Q.No: 140 Cognitive theory of learning for a child is given by
2479055

TF 5= & AU e &1 SR it fraes R faan w2

Johann Gregor Mendel

A
e IR ASH
Jean William Fritz Piaget
B
<= faferaw fipee framt
Ivan Petrovich Paviov
(@
A TifaT uraea
Edward Thorndike
D

Tsas YHSIsd

Correct Ans : B

Subject : Child Developement

Q.No: 141 Piaget assumes which of the following regarding schema of a child?
2479162

st 7= & Wi & ey § Fofifed § 4 S @ A 82

Baby has a 'sucking schema.

A

AR & URY T arelt W R

Baby has a feeling schema.
B

I A Wi W 31

Baby has a logical schema.
C

It F T aIfbe @ 1
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Baby has a babbling schema.

It BT TSTSM qTel THHT 21

Correct Ans : A

Subject : Child Developement

Q.No: 142 Which of the following stages comes under the Postconventional level of Kohlberg's theory?
2479300

Fefifad ¥ ¥ $H-T1 T Biga & Rigid $ IR-URIRS TR & faila /i 82

Punishment/obedience orientation

A
AT AT 3T
Good Boy/Nice Girl orientation
B
H=ST oSt d5hl HiATa-aE
Instrumental purpose orientation
C
are SRy Sifufa=ama
Social contract orientation
D

T Y Sifufaama
Correct Ans : D

Subject : Child Developement

Q.No: 143 To develop a positive attitude towards labour, Mahatma Gandhi suggested how many ways to contribute to social progress?
2479571

49 & Y THRIAD VDI [qHRId B & farg, Hgren miht 3 gmifiies Wiy § ahre e & fbam ais ggme?

1
A

1

2
B

2

3
C

3

4
D

4

Correct Ans : B

Subject : Child Developement

Q.No: 144 Who among the following talked about “push” and “pull” concept of motivation.
2479937

Frofared & 3 fras IRon 3 g iR "ga" SfaURN & IR & 91 F
B.F. Skinner

dLuw. ReR

Ivan Paviov
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ECIERNCIC]

James A. Coleman

S ¢ Braie

Jean Piaget

s fasre

Correct Ans : C

Subject : Child Developement

Q.No: 145 According to James A. Coleman, Push represented which of the following?
2479949

SR T BIAEA B SR, IR (push) PR & ¥ feger ufaffig $=ar 22

Self-motivation

A
T ftsRom
External motivation
B
e SrftrRom
Punishment
C
et
Drive
D
sfaig

Correct Ans : A

Subject : Child Developement

Q.No: 146 In some situations, the parent or teacher might say, "you are not a kid", while in other situations they may say, "you are still a kid". This
2480129 (onfusion about child’s identity affects their emotions. In which stage the child gets most confused by such statements?

P fufagt &, Arar-fdr a1 Riered &8 Tod €, "7 5= T B, Safd 37 R # 3 B8 Iohd €, "oy 3ndt off T 7= ¥ | I B UgAH B dAR Tg YA
JABT G B YUITAT HRT 81 ST IR F TAM! ¥ 5= b a1 F Ta ware1 idd giar 82

Early childhood

A

U

Later childhood
B

q1¢ T I9uq

Adolescent
C

fraiR

Old age
D

ELHER

Correct Ans : C

Subject : Child Developement

Q.No: 147 According to Kohlberg, in which stage of moral development people follow laws because they are based on universal ethical principles?
2480170

PIAH b ER, s e & 6T w1 § AT ST BT UIa IR 8, T 3 e Afae Rigidl w emuifia gia &2
A Stage 2
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TROT 2

Stage 4
B

W 4

Stage 6
C

T 6

Stage 3
D

RT3

Correct Ans : C

Subject : Child Developement

Q.No: 148 According to the structure of J.P. Guilford model of intelligence, the mind has three dimensions namely Operation, Contents and Products.
2480301 Among the following traits, choose the one which belongs to an operation?

S, Pawrs & 33 F Risia 3t T & oiguR 9fkrs & 3 smam wfea, fvg-avg ok Iae 31 Fafafed dael & & 39 g S o O § et 32

Evaluation
A
Hedied
Classes
B
BTY
System
C
womTett
Transformation
D

TR
Correct Ans : A

Subject : Child Developement

Q.No: 149 Which of the following is true with respect to a multilingual classroom?
2480353

U Fe & Yoy H Fofied ¥ § sH-a1 99 82

It is difficult for the teacher to handle all the students together, owing to different languages.

A
faftm wrwrsit & R Rige F Rig ve ary i i) t Svrae 3 dar 31
It results in the formation of homogenous groups within classroom.
B
T TR WY $aT & e ST Tg) &1 P g 21
It creates a hierarchy among students based on the language of communication.
C
g TR P U & MR R fenfial & fv 1@ vargma 1 Fmfo s g1
It promotes learning and tolerance towards different cultural groups.
D

T faftr wivplas wqgl & wfa oftnmm oik wikwpar @1 wgrar 3ar 21

Correct Ans : D

Subject : Child Developement

Q.No: 150 Answer the following questions by selecting the most appropriate option.
2480735


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Multiple pedagogical techniques, assorted learning material, multiple assessment techniques and varying the complexity and nature of the
content are associated with which of the following?

T IUGH fahed H1 9o HRb 49 Fardl & Srarg el

g e dep-itep, Ffda it amll, 95 Heuied do-ie SR SeT-3faT Sfedant ok fawy axg &) uefa Fuafafed & ¥ feras iy 9t 32

Remedial teaching

A
SUARTES g
Universal design for learning
B
ftrme ¥ forg wrdaiifire feomss
Differentiated instruction
C
[CRIEEE R C
Reciprocal teaching
D

uRER® Rigor

Correct Ans : A

Subject : Child Developement
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